TABLE 6. HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2007**

	Construction			<u>Manufacturing</u>			Durable Goods		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	\$729.90	39.2	\$18.62	\$644.80	40.0	\$16.12	\$656.75	39.9	\$16.46
February	721.60	38.2	18.89	661.20	40.0	16.53	671.62	39.6	16.96
March	740.30	38.8	19.08	678.94	41.5	16.36	673.63	41.0	16.43
April	754.38	39.6	19.05	663.82	40.8	16.27	670.33	40.7	16.47
May	753.38	39.3	19.17	697.64	41.7	16.73	683.30	40.6	16.83
June	739.54	39.4	18.77	682.69	41.4	16.49	701.40	41.8	16.78
July	781.95	40.1	19.50	698.05	41.6	16.78	720.99	41.7	17.29
August	795.19	40.8	19.49	686.40	41.6	16.50	708.41	41.5	17.07
September	784.45	39.4	19.91	702.40	41.1	17.09	716.77	40.2	17.83
October	794.75	40.2	19.77	700.69	41.0	17.09	710.50	40.6	17.50
November	796.00	39.8	20.00	698.94	40.1	17.43	727.01	40.3	18.04
December	883.96	38.5	22.96	711.88	41.9	16.99	732.66	41.3	17.74
ANNUAL AVERAGE	777.76	39.5	19.69	686.78	41.1	16.71	698.50	40.8	17.12

	Wholesale Trade			Retail Trade			Food	Food & Beverage Stores		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	
January	\$855.21	42.4	\$20.17	\$330.32	28.5	\$11.59	N/A	N/A	N/A	
February	786.22	40.8	19.27	332.93	28.8	11.56	N/A	N/A	N/A	
March	884.85	45.4	19.49	346.41	28.7	12.07	N/A	N/A	N/A	
April	815.93	44.2	18.46	348.36	29.2	11.93	N/A	N/A	N/A	
May	771.38	41.9	18.41	343.77	28.6	12.02	N/A	N/A	N/A	
June	798.88	41.5	19.25	351.94	29.8	11.81	N/A	N/A	N/A	
July	812.68	40.9	19.87	345.45	29.5	11.71	N/A	N/A	N/A	
August	771.83	39.5	19.54	334.37	29.0	11.53	N/A	N/A	N/A	
September	737.49	40.3	18.30	346.02	29.6	11.69	N/A	N/A	N/A	
October	743.58	39.7	18.73	343.33	28.9	11.88	N/A	N/A	N/A	
November	886.99	37.3	23.78	347.17	29.8	11.65	N/A	N/A	N/A	
December	947.13	39.3	24.10	343.30	29.8	11.52	N/A	N/A	N/A	
ANNUAL AVERAGE	817.13	41.0	19.93	342.81	29.2	11.74	N/A	N/A	N/A	

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2007.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY WORKERS IN UTAH BY NAICS SECTOR, 2007

	<u>Transpor</u>	tation & Ware	housing	Informatio	<u>n</u>	
Month	<u>AWE</u>	<u>AWH</u>	_AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	\$815.96	33.4	\$24.43
February	N/A	N/A	N/A	832.28	32.6	25.53
March	N/A	N/A	N/A	767.04	32.0	23.97
April	N/A	N/A	N/A	795.87	33.3	23.90
May	N/A	N/A	N/A	759.92	32.2	23.60
June	N/A	N/A	N/A	787.29	32.6	24.15
July	N/A	N/A	N/A	805.43	33.2	24.26
August	N/A	N/A	N/A	761.15	32.5	23.42
September	N/A	N/A	N/A	831.14	33.8	24.59
October	N/A	N/A	N/A	754.10	31.2	24.17
November	N/A	N/A	N/A	748.13	30.8	24.29
December	N/A	N/A	N/A	848.64	34.0	24.96
ANNUAL AVERAGE	N/A	N/A	N/A	791.20	32.6	24.27

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, *Annual Report of Labor Market Information*, 2007.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2007**

Ogden-Clearfield MSA (includes Weber, Davis, and Morgan counties)

	Nat. Resources & Construction			<u>Manufacturing</u>			<u>Durable Goods</u>		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	\$577.13	40.7	\$14.18	N/A	N/A	N/A
February	N/A	N/A	N/A	575.51	40.5	14.21	N/A	N/A	N/A
March	N/A	N/A	N/A	578.10	41.0	14.10	N/A	N/A	N/A
April	N/A	N/A	N/A	573.43	40.1	14.30	N/A	N/A	N/A
May	N/A	N/A	N/A	587.93	40.8	14.41	N/A	N/A	N/A
June	N/A	N/A	N/A	589.58	41.0	14.38	N/A	N/A	N/A
July	N/A	N/A	N/A	609.44	41.8	14.58	N/A	N/A	N/A
August	N/A	N/A	N/A	590.90	40.5	14.59	N/A	N/A	N/A
September	N/A	N/A	N/A	600.11	39.3	15.27	N/A	N/A	N/A
October	N/A	N/A	N/A	605.20	40.0	15.13	N/A	N/A	N/A
November	N/A	N/A	N/A	603.37	39.8	15.16	N/A	N/A	N/A
December	N/A	N/A	N/A	600.34	40.4	14.86	N/A	N/A	N/A
ANNUAL AVERAGE	N/A	N/A	N/A	591.30	40.5	14.60	N/A	N/A	N/A

	Trade, Tr	ansportation a	& Utilities		Retail Trade			
Month	<u>AWE</u>	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE		
January	N/A	N/A	N/A	\$331.48	31.6	\$10.49		
February	N/A	N/A	N/A	340.69	31.9	10.68		
March	N/A	N/A	N/A	331.70	31.0	10.70		
April	N/A	N/A	N/A	340.58	31.8	10.71		
May	N/A	N/A	N/A	321.30	30.0	10.71		
June	N/A	N/A	N/A	333.59	31.5	10.59		
July	N/A	N/A	N/A	327.85	30.9	10.61		
August	N/A	N/A	N/A	315.12	30.3	10.40		
September	N/A	N/A	N/A	326.00	30.9	10.55		
October	N/A	N/A	N/A	316.95	30.1	10.53		
November	N/A	N/A	N/A	330.40	31.8	10.39		
December	N/A	N/A	N/A	336.96	32.0	10.53		
ANNUAL AVERAGE	N/A	N/A	N/A	329.78	31.2	10.57		

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2007.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY WORKERS IN UTAH BY NAICS SECTOR, 2007

Provo - Orem MSA (includes Utah and Juab counties)

	Nat. Resources & Construction		<u>Manufacturing</u>		Trade, Transportation & Utilities				
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
February	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
March	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
April	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
May	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
June	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
July	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
August	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
September	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
October	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
November	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
December	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A
ANNUAL AVERAGE	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A

	Retail Trade						
Month	AWE	<u>AWH</u>	AHE				
January	\$329.70	29.1	\$11.33				
February	321.06	29.7	10.81				
March	341.04	29.4	11.60				
April	337.84	29.2	11.57				
May	325.40	28.1	11.58				
June	323.48	28.5	11.35				
July	312.74	28.2	11.09				
August	291.27	26.6	10.95				
September	293.30	26.4	11.11				
October	286.12	25.8	11.09				
November	291.67	26.3	11.09				
December	287.03	26.7	10.75				
ANNUAL AVERAGE	311.08	27.8	11.19				

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2007.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2007**

Salt Lake City MSA (includes Salt Lake, Tooele, and Summit counties).

	Nat. Resou	ırces & Const	ruction	<u>Manufacturing</u>		Durable Goods			
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	N/A	N/A	N/A	N/A	N/A	N/A	\$672.75	37.5	\$17.94
February	N/A	N/A	N/A	N/A	N/A	N/A	689.96	37.6	18.35
March	N/A	N/A	N/A	N/A	N/A	N/A	704.30	40.2	17.52
April	N/A	N/A	N/A	N/A	N/A	N/A	713.81	41.0	17.41
May	N/A	N/A	N/A	N/A	N/A	N/A	730.32	40.8	17.90
June	N/A	N/A	N/A	N/A	N/A	N/A	759.51	41.8	18.17
July	N/A	N/A	N/A	N/A	N/A	N/A	782.87	41.4	18.91
August	N/A	N/A	N/A	N/A	N/A	N/A	795.56	41.5	19.17
September	N/A	N/A	N/A	N/A	N/A	N/A	810.61	41.4	19.58
October	N/A	N/A	N/A	N/A	N/A	N/A	830.35	42.3	19.63
November	N/A	N/A	N/A	N/A	N/A	N/A	876.36	43.6	20.10
December	N/A	N/A	N/A	N/A	N/A	N/A	891.17	43.9	20.30
ANNUAL AVERAGE	N/A	N/A	N/A	N/A	N/A	N/A	772.27	41.1	18.79
	Wh	olosalo Trado			Retail Trade		Trans V	Varehousing 8	Litilities

	Wholesale Trade			Retail Trade			Trans., Warehousing & Utilities		
Month	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE	AWE	<u>AWH</u>	AHE
January	\$887.36	42.6	\$20.83	\$357.15	28.1	\$12.71	N/A	N/A	N/A
February	838.42	40.7	20.60	360.54	28.3	12.74	N/A	N/A	N/A
March	936.32	44.8	20.90	379.62	28.5	13.32	N/A	N/A	N/A
April	874.66	43.3	20.20	380.16	28.8	13.20	N/A	N/A	N/A
May	832.65	41.2	20.21	379.91	28.5	13.33	N/A	N/A	N/A
June	866.94	41.5	20.89	389.90	29.9	13.04	N/A	N/A	N/A
July	906.52	42.7	21.23	389.49	29.8	13.07	N/A	N/A	N/A
August	845.43	41.1	20.57	384.42	29.3	13.12	N/A	N/A	N/A
September	788.98	41.2	19.15	403.60	30.3	13.32	N/A	N/A	N/A
October	790.56	40.6	19.52	407.84	29.9	13.64	N/A	N/A	N/A
November	937.65	37.9	24.74	403.21	30.5	13.22	N/A	N/A	N/A
December	992.09	39.4	25.18	397.49	30.6	12.99	N/A	N/A	N/A
ANNUAL AVERAGE	874.73	41.3	21.18	386.32	29.4	13.14	N/A	N/A	N/A

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2007.

TABLE 6.(Cont.) HOURS AND EARNINGS OF PRODUCTION OR NONSUPERVISORY **WORKERS IN UTAH BY NAICS SECTOR, 2007**

Salt Lake City MSA (includes Salt Lake, Tooele, and Summit counties).

		Information					
Month	AWE	<u>AWH</u>	AHE				
January	\$680.46	33.0	\$20.62				
February	626.35	31.1	20.14				
March	597.96	30.2	19.80				
April	619.92	31.5	19.68				
May	586.31	30.3	19.35				
June	589.76	29.4	20.06				
July	584.91	29.1	20.10				
August	561.22	29.2	19.22				
September	603.60	30.5	19.79				
October	565.73	28.4	19.92				
November	603.22	28.4	21.24				
December	606.47	29.7	20.42				
ANNUAL AVERAGE	602.60	30.1	20.02				

AWE - Average Weekly Earnings. AWH - Average Weekly Hours. AHE - Average Hourly Earnings.

N/A - Due to budget cuts and program changes data is no longer available.

Source: Utah Department of Workforce Services, Workforce Development & Information Division, Annual Report of Labor Market Information, 2007.